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2-1. FEBEIHERFHR

%4 R WO BANT & L
XM m3 0.114
FEE Lk e m3 0.114 P SR
Gk i gy | PEEER
(m3) (0.135) (2 2H+0.185¢p)
X ALER m3 0.114 AR
X EH R m3 0.015
LA ek B
(s sty 03 e
Bh &AL G F720N)
(m3) (0.018) (2 AZ+0.185¢p)
X ALER m3 0.015 i
o7 —h m3 0.014 24-12-25N
2 Y —ME AT Al g m2 0.067 /N E)
a7 —hk
L m3 0.014 T
a7 —h
FRALFR m3 0.014 A
Comx LA &
T m3 0.143




2-2. MTEBEIREHE

FEE Tk @k v - BB & S Te)

(1) FEetAR
(VAR M8 (mm) [ & & (mm) [ RS (mm) | fEHATEL {AFH (m3) i F8 (m2)
T
g
2| Py FE i 100 600 50 1 0. 00300 0. 060
4| BRI 100 200 50 3 0. 00300 0. 060
5| by 7 F i 100 100 50 1 0. 00050 0.010
6| EyinfRl 7 - 100 100 50 3 0. 00150 0. 030
7| By EE 100 200 50 1 0. 00100 0. 020
B E 0.00900 0.180
PRASC - EAT - AT
16|G1-G2 AR it T ifii 500 100 50 1 0. 00250 0. 050
22|G2-G3[A] PRI 1 600 200 50 1 0. 00600 0.120
23|G2-G3 M AR AR T 1 5500 200 50 1 0. 05500 1.100
27| G3-GAA] PRI T 1000 100 50 1 0. 00500 0.100
44|G4-G5 ] AR AR T 1 50 150 50 1 0. 00038 0. 008
45|G4-G5 [E AR AR T ifii 100 250 50 1 0.00125 0. 025
46| b pie Al g R iR T 100 100 50 1 0. 00050 0.010
51 bRl i HH PR 200 100 50 1 0.00100 0. 020
52 b Al 5k H PR AR T 200 100 50 1 0.00100 0. 020
61{G1 7 300 300 50 1 0. 00450 0. 090
62{G1 = 200 100 50 1 0.00100 0. 020
63[G1 =T 300 300 50 1 0. 00450 0. 090
64[G1 =T 100 100 50 2 0.00100 0. 020
65[G1 T 100 250 50 1 0.00125 0. 025
66|63 AT i 100 100 50 1 0. 00050 0.010
67{GA T 150 150 50 1 0.00113 0.023
68]G4 =T i 100 100 50 1 0. 00050 0.010
69[G5 LT 100 100 50 2 0.00100 0. 020
70[G5 F=AMT AR A 100 100 50 3 0. 00150 0. 030
71[G5 AT 300 300 50 1 0. 00450 0. 090
73|CLBAHT I AT 100 100 50 1 0. 00050 0.010
77 [C3AHAMT IE 1A 100 100 50 1 0. 00050 0.010
79[ CaHMT IE 1A 100 300 50 1 0. 00150 0. 030
PRAR - FEA4T - BEAT T 0. 09651 1.931
TR 0. 10551 2. 111
T




AIBE

28|A24B B 7= THE 400 400 50 1 0. 00800 0. 160
LA 0. 00800 0. 160
&gt 0.11351 2.271

KB IHEE TR S ORI ZRE T, 50mm & HEET D,

(2) BB

(DHEAHFEELY

V= = 0.114 m3

(3) WriEHEE A4l &

@) BEHEEICE LW
Wi= = 0.114 m3

WrEHEEA i 2 (m 255 Te)

W2= W1X1.18 = 0.135 m3

(4) LB

(2) BFHE I LW

V= = 0.114  m3




EE Lk (R Lo - Ui 25 £ 720)
(D) BoEatHE

fir i | g om) [ Ex ) |Es m | @prk | EE@) | wER o)
T
il
3|Tiﬁi1ﬁﬂi&%£ﬁ | 300| 300| 30| 1 0. 00270 0. 090

A 0. 00270 0. 090
PR AR - =AM - BT

14]G1-G2[# A T 100 300 30 1 0. 00090 0. 030

30|G3-GAR PR Sl T 1 800 150 30 1 0. 00360 0.120

36[G3-GA A AR T i 1000 100 30 1 0. 00300 0. 100

80[G22 F:Af1/)~ M [Hi 300 200 30 1 0. 00180 0. 060
PRIR - AT - BT ET 0. 00930 0.310
T AR 0.01200 0. 400
TET
PG

S|PLHEMI N7~ b 300 200 30 1 0. 00180 0. 060

19|PIE I 72 "CHE 100 100 30 1 0. 00030 0.010
P1iGIHIE 0. 00210 0. 070
A2fE R

25|A24ﬁﬁ/\°9“°? h 100 100 100 1 0.00100 0.010
AKEEE 0. 00100 0.010
T T A 0.00310 0. 080
149 A8 0. 01510| 0. 480

(@) Bt

(3) WrmE1E A1 &

(DFEFFEELY

V=

(2) RFHEEEIZHE LW

W1i=

(4) WriEHEEA i & (m 2 RE Te)

W2=

W1X1.18

(5) AL
(2) FHEEEIZHE LW

0.015

0.015

0.018

0.015

KW EEE S OB &L, 30mm & #HEET 5,

m3

m3

m3

m3




2-3. a7 ) — MEIH TEEHE
o7 Y— K 24-12-25N

0.5 X 0.451 X 0.4 X

AP NG

0.446 X 0.15

a7 U—FEDEL M

0.5 X 0.451 X 0.4 X

a7 ) — MERALEE AR

0.5 X 0.451 X 0.4 X

0.15

0.15

0.15

0.014

0. 067

0.014

0.014

m3

m2

m3

m3
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1. VUbLhMB I HERHE

& FR % BT gy L
it TAE m 11.8
EAM kg 2.210.043kg/ A
IREFEATLE
“/‘—/l/ﬂ‘ kg 1.2 *ﬁ%fﬁ@(%
(kg) 1.6|(z23#+0.375 Fr)
REFEAZG A A S2|MEte Ry Gt
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3-2. VUbIhMEINEHE

(D EFRER
U AM(EEFTHR) = 30mm X EX X 2mm X 1700 kg/m’
A (EEETR) = BE X EE X S X 1200 ke/m’
e ] VR DT AR
- RE | AR | o MRBE | GF R | e | (B35
(IALH s (1) |w§é (mm>|%é<mm> fTk | (mm) (m3) (m3) (kg) Py (kg)
T
Al~P1
72 |CLBHAT 1F A 0. 40 600 100 1 600 0.000024 0. 000036 0. 061 3 0. 029
74 |CLBHAMT 1F A 0. 30 500 100 1 500{ 0.000015 0. 000030 0.051 2 0.018
75 [CLBAT 1F A 0. 40 800 100 1 800|  0.000032 0. 000048 0. 082 4 0.038
76 |C24HAT 1F A 0. 40 800 100 1 800|  0.000032 0. 000048 0. 082 4 0.038
AL~P1&f 2700 0.000103 0. 000162 0.276 13 0.123
T AR | 2700| 0. 000103 0. 000162 0.276 | 13| 0.123
R L
P1
12|PUAG I 7= C 0.30[ 1600 100 1 1600 0. 000048 0. 000096 0. 163 7 0. 058
15| PUAG I 7= C 0.20 2400 100 1 2400  0.000048 0. 000144 0. 245 10 0. 058
16 |P1AG I 7= C 0. 20 400 100 1 400 0.000008 0. 000024 0. 041 2 0.010
18| P1AG I 7= C 0. 20 900 100 1 900|  0.000018 0. 000054 0. 092 4 0. 022
20 |PIABIA 7= C 0. 20 700 100 2 1400 0. 000028 0. 000084 0. 143 6 0. 034
23 |PIABIA 7= C 0.20[ 1200 100 1 1200 0. 000024 0. 000072 0. 122 5 0. 029
29 | P 1 A4 22 i 0.20[ 1200 100 1 1200 0.000024 0. 000072 0.122 5 0. 029
P1gt 9100 0.000198 0. 000546 0.928 39 0. 240
T T AE | 9100| 0. 000198 | 0. 000546 | 0.928 | 39| 0. 240
1G4 Y A5 | 11800| 0. 000301 | 0. 000708 | 1. 204 | 52| 0. 240
MIEAR S ORI EITIX, 100mm & HEET 2,
(2) fifs THE £
(DFEFHAER LY L= 11.800 m
(3) ¥ — N LB
(DFEFHAER LY W1 = 1.204 kg
=M (m ARG T)
(2% 0.37) (FREE AT HFEERFREEE T-2-0-5)
W2 = WL X 1.37 w2 = 1.649 kg
WD IREEARR RS A&
EEFEAR BT, 200~300mFR L MR CHRET 5,
FRE IR, 250mm & LA RZ R T 5,
Aok, REREALEEIBLL vV X —R%MDLEET 5,
(DFEFHAER LY N = 52 (]




G)EAMMERE (MEn 2581
EAMITREEAGZENOEME 2 2L LTELETH D,
IREEAZR B Y » AR 0.043kg/ A THHET D, (By 7 2ALiEXY)

PAE:S 52 X 0. 043 = 2.236 kg

AR

0.240 kg

SEAM BRI, 2.236 kgL 75,
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% R WO AL & T B
T Hi AL m2 510
FiHEE T GRM AR m2 510
S LI L 103
7 A W HE L 9
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2 RAREIBERT

() BEFHEE
a. v 7% b
DA1-PIERR T 1HE

TNURABE R 25. 12 = 25.12
S1-C1 3.52 X 4 + 1.3l X 8 X 1/2 X (1.202 + 1.035) = 25.80
C1-C2 4,96 X 4 + 0.87 X 8 X 1.202 = 28.21
C2-C3 4.96 X 4 + 0.87T X 8 X 1.202 = 28.21
C3-S2 3.52 X 4 4+ 1.3l X 8 X 1/2 X (1.202 + 1.035) = 25.80
A1-P1_E3ARIBE R 27.09 = 27.09

Y = 160.23 n’

@A1-P1FMT FFlg N
G1~G5 n=5
TFlg Fil  10.64 X 5 = 53.20 m

QAL-PIAEMNT i
Gl~G5H kAT n=12
Web T 0.19 X 12 = 2.28 m’

vI UK bmE R = 215,71 o

b. 7 A BRYE R LA &
@P1-A2R T T i
39. 59 = 39. 59 m’

R
&
34

AR EME F o= 39. 59 m’

c. VT RMEA &

OB ]
G1~G5 n=5
Web (2.52 + 2.52) X 1.001 X 2 X 5 = 50. 45
Web (1.16 + 3.37 + 3.37 + 1.16) X 2 X 5 = 90. 60
TFFlgrvd (0.55 +  0.82 +  0.82 + 0.55) X 1.414 X 2 X 5 = 38.74
TF1gflmm 4.54 X 2 X 5 = 45. 40
bit okl 0.19 X 3 X 2 = 1. 14
Ak (0.56 + 0.56) X 2 = 2.24
RCZE/EHERR -(0.54 X 0.74 + 0.57 X 0.66) X 2 X 4 = —6. 21

> o= 222.36m



ORAMT IE TH
G1~G5rH EIREHT  n=12

Web, N/F (0.85 + 0.13 X 1.036 +
G1~GhuifiHT n=8
Web 1.00 X 8

RCZSHEDHERR —(0.54 X 0.95 + 0.57 X

d. 77 A BRHE R BATA &

O P1-A2 b « Ry 7B
0.73 + 0.73
R AT
(2) TFHbALEE

REREEAICFE C

(3) &R 1 F B
T % 0,22 L/m2
Wa=  0.22 X ( 215.71 +

A B R 1 0.22 L/m2
Wa= 0.22 X ( 39.59 +

253. 05

1. 46

0.13 X

0.95) X 4

)

X 2 X 12

26. 91

8.00
—4. 22

M
Il

VI URBAE A =

A MR E B =

30. 69 m’

253.05 m?

1. 46 m*

1.46 m®

509. 81 m’

509.81 m’

103.1L

9.0L
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o-1. FEEATR R - REMKIBRERMHE

il il H halll I i XA = 1
T AT 7))L N T

t=7 cm
K= W=3.0 mi% m2 215

=R
X R T AT EaN W=15 cm m 60

e AR
W=15 cm m 30
SPERRGIMT T | 7 A7 7 U RN RR t=7 cm m 30
Bl T A B t=7 cm m2 215
T AT 7 )V N LR m3 15
w0 AR m3 0.1
5% LB m3 0.1
NE] B R m2 215

18
HEWTHE K ZOSAG I ISIA T m 23
5mm/E
I H s (B — LSS L DL ) m 90.5
TIVIN— AT a
Vil B HALER EEFFYES m 90.5
277K —r | RRE 227 mm /A (& 2
TJLXL T NFa—A 25, 1=1.5m m 3.0
HIIFLEE ¢ 100
= 7)) —hEI4L T [.=50 mm B 2
HIIFLEE ¢ 50

J1.=177 mm T 2
TARF UG kg 0.60




5-2. PRI 7 FHETITHEHE

7l L = Bl # S

belo

TRAI7ILNEGEET RE t=70 mm, W=3.0 mi&

A1-P1
al= 167.38
P1-A2

a2= 47.32

2= 214.70| m2 215

V= 214.70 x 0.07 = 15.03( m3




Dl H i XX
A | “ N AL A R 5
X R T(H - F28 W=15 cm)
Al P1 | m 23.43
Al P1 A | m 23.24
P1 A2 | m 6.64
P1 A2 el m 6.63
= 59.94
X R TG - FER W=15 cm)
Al P1 h m 23.29
P1 A2 rh m 6.63
5] m 29.92

23



5-4 EIHERHE

oAl g = BA {3 = B E

SERYIET T TRAI7ILIEZEMR t=7 cm

L= 23.29 + 6.63 = 29.92| m 30
HEIE T 2EYIHEl t=7cm

A= 167.38 + 4732 = 214.7| m2 215
TFAI7ILERALTE

V= 15.03 = 15.03| m3 15
TH-EEEE

A21BS n=288FR
V= 0.40 x 1.10 X 010 = 0.04
2y 0.08| m3 0.1

Et e

V= EnD = 0.08[ m3 0.1

24



5-5. IMER K ITHEHH
(DBGKJE
GBIE R
A BIHI XY
215
()FEWTHEKE
$ 18 ANXATNINAT
(a)HEWT Pl A
Al-P1 23

(3)EkH H Hikt
Smm/E (£ — USSR S DL )
B=30mm
Al-P1 62.3
P1-A2 28.2

(¥ B i ALE
VU2 S DA Y ol
B=150mm
BB HIAF TR

(5) AFTRL—r
RIE 227 mmf Xk

6)7LXL TN Fa—T
625, L=1.5 mX 24

(7)o 7U—REIFL T
1) B FLEE ¢ 100,1.=50 mm

2) Bl FLEE ¢ 50,1.=177 mm

(8) =¥ #HG
(7 /4X0.100°2- 7t /4 X0.0427°2) X 0.020 X 2
(7 /4%0.050°2- 7t /4X0.0427°2)X 0.177 X 2
(0.0003+0.0002) X 1200kg/m3

25

215 m°

23.0 m

62.3 m
28.2
90.5

90.5 m

3.0 m

0.0003 m3
0.0002 m3
0.60 kg
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6-1. HiERERET KERHR

¥ =
4 PR A&
P1 A2
i e R 8.100 7. 400 7.370 22.9
R NN KC-A20-WGHH 24 5, 8. 100 7. 400 7.370 22.9
®“fIbar sy o ck=24N/mm2 0. 629 0.539 0. 567 1.7
E78i0) SD345 D16 0. 051 0. 046 0. 046 0.14
EHT T — D16 164 148 148 460
D% 1.08 0.90 1.14 3.12
Ry T v T IV T 4=k 1.96 1. 60 2.02 5.58




6-2. fiEE

(6) > — 44
AR

AR R
0.505 X 0.044 X

HRET BEHEHE

(1) it i AE =

(2) iR dE E AR
KC-A20-WGFH S 5 L

Q) #ETb=r 27 U—F
o ck=24N/mm2
0.400 X 0.110 X

8.100 X 1.560 X 4 /

(5) 27 > F1—
D16 (ctc200)

8.100  0.200

= 41 X 2
8.100  0.200
= 41 X 2
= 82 + 82
0.526 X 0.044 X

0.55 + 0.53

(DX 7T v Th
AR
0.455 X 0.044 X
A H S
0.435 X 0.044 X

.00 + 0.96

8.100 m

8.100 m

0.629 m3

0.051 t

41 K
82 A
41 K
82 A

164 K

0.55 L

0.53 L

.08 L

.00 L

0.96 L

.96 L



2. P&

(1) fif e i e
i & v

(2) fffE R EA A

KC-A20-WGFH S 5 L

BV #¥THbar 7 U—t
o ck=24N/mm2
V = 0.331 X 0.110 X 7.400 + 0.331 X 0.110 X 7.400
(4) kA5
SD345 D16
W o= 7.400 X 1.560 X 4 /1000
(B) =/ T > T —
D16 (ctc200)
&S 7.400  0.200
n = 37 X 2
PR A 7.400  0.200
n = 37 X 2
Al n = 74 + 74
(6) > —/Lkt
AR
V = 0.480 X 0.039 x 0.020 X 1000 X 1.200
A H S
V = 0.480 X 0.039 x 0.020 X 1000 X 1.200
“F
V = 045 + 0.45
(NN 7T Tk
AR
V = 0.410 X 0.039 X 0.050 X 1000
A H S
V = 0.410 X 0.039 X 0.050 X 1000
“E
V = 0.8 + 0.80

7.400 m

7.400 m

0.539 m3

0.046 t

37 A
74 A
37 A
74 A
148 A

0.45 L

0.45 L

0.90 L

0.80 L

0.80 L

1.60 L

29



3. A2 H

(1) i e =

(X[ & 1 L = = 7.370 m
(2) fHifE 2B A A

KC-A20-WGFE Y4 & L = = 7.370 m
B #‘ITbar 7 V—1t

o ck=24N/mm2

V = 0.400 X 0.110 X 7.370 + 0.300 X 0.110 X 7.370 = 0. 567 m3
(4) 81

SD345 D16

W o= 7.370 X 1.560 X 4 , 1000 = 0. 046 t
(B) =/ T > T —

D16 (ctc200)

& El 7.370 0.200 - 37 A

n = 37 X 2 = 74 R
BRREM  7.370 0.200 _ 37 A
n = 37 X 2 = 74 K

Al n = 74 + 74 = 148 A
(6) > — /Lt

TR AR

V = 0.473 X 0.050 X 0.020 X 1000 X 1.200 = 0.57 L
AR

V = 0.475 X 0.050 X 0.020 X 1000 X 1.200 = 0.57 L
Al

vV = 0.57 + 0.57 = 1.14 L
(NN 7T Tk

TR H

V = 0.403 X 0.050 X 0.050 X 1000 = 1.01 L
A H S

V = 0.405 X 0.050 X 0.050 X 1000 = 1.01 L
S

vV = 1.01 + 1.01 = 2.02 L
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T-1. oKEEZEIMESRSE
il il A il F5a s B[ & Ly 1
BEAKE
HEKAE AL Sk 1
HEKEPL Sk 1
HEKERRE T
m 1.43
m 1.47
B4 B SS400 (P #1 A 2F)
AM{%JI:T t=6.0 mm % 1
SS400 (ARl EE SR A %)
PIT‘%HH] t=6.0 mm % 1
KUV E T
m 1.4




1-2. HKEEHMERE

(1) PR - Pk B s iE L
PoKE Al
N=1
L=1.43
PR Pl
N=1
L=1.47

(2) Buf4: B
AlFEHR  SS400 (R EhEEEh A~ ) t=6.0 mm
N=1

PIAEH  SS400 (ARLAEEN A~F) t=6.0 mm
N=1

(3) K EIVE% & T
A2 _Ey
L=0.7
A2 Tl
L=0.7

1.43

1.47

0.7

0.7

it

1.4
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8-1. RBIMEREHE

i bl bl el Hi B | BT Y 1

PCHTRHIE &S L e
(L1=#rEH<1.5) m2 197

s A ()
m2 197

Js an Fukil e 5
#m2 48

HAE Y
fm2 15

B 2 1 G

H 7




8-2 R T MBI

(1) PCHTAiE 25 L
S (L1=HrmH<1.5)
X/ i <0
196.8 = 196.800 m2
s ()
X/ i <0
196.8 = 196.800 m2
(2) 2% L
Pk i 5
X/ i <0
PG A2
7.5%6.351 = 47.6 #hm2
HE =Y
A2lGE
2.5%6.11 = 15.3 $#m2



(3) ¥t 2
1 G s
TR SRR BRI 2 )5 A 3K
ey (L1=HimH<1.5)
196.8/38
s (1)
196.8/227

3= 6.1
P1-A20 K iR LIZH D% A%
T HALE
(39.59+0.73%2)/68 = 0.6
R AT
(39.59+0.73%2)/116 = 0.4
3= 1.0

7.1



1 KOFE HERERER

HERRER
X7y | LFE | FER il Bk AL | fiig B
e e T &N 1
TEgAifE L 2V 1
W E1E 1T E29 1
AR 2 2V 1
A T 2V 1




2 WEBEIRE
2.1 HHEBEIRERHR

il 1 WO ==X va M e
AR B E m3 0.026
JeE Tk m3 0.026 TR SR
WrmfEE T | (B L -BhsE|  Wrim(EEss
WL ) (m3) 0.031)| (2AZ+0.1851)
AL m3 0.026 ER




2.2 BEBEIRENHNE

() 2B Lk @7 v - BigsLe 2 5 Tr)

D) HEtE R
(AT & (mm) | & (mm) PR S (mm) | BEATE | AKFE (m3) [fFE (m2)
g
& ETF
1 2 A 700 400 80 1 0. 02240 0. 280
2 HPE Kt 400 400 20 1 0. 00320 0. 160
A
0. 00000 0. 000
0. 00000 0. 000
ik 0. 02560 0. 440
2) A B R
(DEEHEELY
V= = 0.026 m3
3) Wi E1E b4 5 FH =
WriE e A & (o ARG Te)
W= Wi1x1.18 = 0.031 m3

4) AL
2) REHEEIZE LW

V= = 0.026 m3
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